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Case Processing Summary

Marginal
N Percentage
Nama M.Rozak 1 3,3%
Febri 1 3,3%
M.Fatoni 1 3,3%
Mifta 1 3,3%
Riski 1 3,3%
Faisol 1 3,3%
Sakdulloh 1 3,3%
Ridoi 1 3,3%
Oddy 1 3,3%
Wanda A 1 3,3%
Markus 1 3,3%
Sujiono H 1 3,3%
Eukman 1 3.3%
AminY 1 3,3%
Imron F 1 3,3%
Slamet R 1 3,3%
Alimron 1 3,3%
Hilmi 1 3,3%
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10,00
C ,00
2,00
3,00
4,00
5,00
6,00
10,00
K ,00
1,00
2,00
Valid
Missing
Total

Subpopulation

30
0
30

21°

3,3%
3,3%
26,7%
30,0%
20,0%
10,0%
6,7%
3,3%
90,0%
6,7%
3,3%

100,0%

a. The dependent variable has only one value
observed in 14 (66,7%) subpopulations.

Model Fitting Information

Model
Fitting
Criteria Likelihood Ratio Tests
-2 Log
Model Likelihood | Chi-Square df Sig.
Intercept 189.973
Only
Final 12,974 177,000 522 1,000




Pseudo R-Square

Cox and

Snell 997
Nagelkerke ,998
McFadden ,867

Likelihood Ratio Tests

Model
Fitting
Criteria Likelihood Ratio Tests
-2 Log
Likelihood of
Reduced
Effect Model Chi-Square df Sig.
:”terce'o 12,974° 000 0
SB 17,902b 4,928 174 1,000
B 13,655° 682 116 1,000
C 21,483° 8,509 116 1,000
K 12,994b ,021 58 1,000

The chi-square statistic is the difference in -2 log-likelihoods
between the final model and a reduced model. The reduced
model is formed by omitting an effect from the final model. The
null hypothesis is that all parameters of that effect are 0.

a. This reduced model is equivalent to the final model because
omitting the effect does not increase the degrees of freedom.

b. Unexpected singularities in the Hessian matrix are
encountered. This indicates that either some predictor variables
should be excluded or some categories should be merged.




Parameter Estimates

95% Confidence
Interval for Exp(B)
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a. The reference category is: Imam A.

b. Floating point overflow occurred while computing this statistic. Its value is therefore set to

system missing.

c. This parameter is set to zero because it is redundant.




